2 2

PLIX_, y_1:=6X"+y

rife_]1:=1-Sinf[e]

2 7 1[e]
I f pl[r Cos[e], r Sin[e]]r dr de
o Jo

10

27 ~ri[e]
(I f (r Cos[e]) pl[r Cos[e], r Sin[e]]r dr dle]/
0 0

2 7 1[e]
(J f pl[r Cos[e], r Sin[e]]r dr dle]
0 0

0

2 7 1[e]
(I f (r Sin[e]) pl[r Cos[e], r Sin[e]]r dr dle]/
0 0

2 7 1[e]
(I -r pl[r Cos[e], r Sin[e]]r dr dle]
0 0

21
20

2 7 1[e]
f r (r Cos[©]1)2 pl[r Cos[6], r Sin[e]]r dr de // N
0 0

15. 5509

2 7 1[e]
J f (r Sin[e])2pl[r Cos[e], r Sin[e]]r dr de // N
0 0

43. 8252

25 ~r1[6]
f r r?pl[r Cos[e], r Sin[e]]r dr de // N
0 0
59. 3761

P2[X_, Y_, z_1:=25e %32 / (3+x?+y?)

27 (T (5

f fij[r Cos[e], r Sin[e]l, z]r dr dz de

b Jo Jo

513. 146

f3[x_, y_, z_1:=Log[l+x%yz?]

£3[0.5, 0.5, 0.5] +f3[1.5, 0.5, 0.5]+f3[2.5, 0.5, 0.5]+f3[3.5, 0.5, 0.5]
1. 04534

2 2

PS[X_, V_, Z_1:=X"+y
25 ~L0 (15-(3/2) 1

j j j p5[r Cos[e], r Sin[e], z]rdzdr de // N
o Jo Jo

7853. 98

10-10 x/6 -;—-§+2
fj f dz dy dx
o Jo o

20



2| 20130131.nb

w |-

1
(6*10*—]*2
2
20

X

Jj,];lo_lo X/B.fo 5-§+2x dz ay ax

— // N
Joﬁ‘lz)lo-lo XleJ;)_g-g+2(ﬂZ d]y dx
1.5
10-10 x /6 -§-§+2y dz dy dx
o S s
J;)GJI)IO—lO X/GJ;)_;_;+ZGIZ dly dx
2.5
10-10x/6 p-=-L42
J';’L sz dz ay ax
N
Jﬁ 10-10 X/6 (-=-%+2 x
N J; Io 375 dz dy dx
0.5
10-10 X /6 -2—-§+2
fj J (x?+y?)dzdydx // N
o Jo o
272.

f70x_, y_1:=1+4x+9y?

N 1+DIf 71X, y1, X]12+DIf 71X, y1, y12
A 17 + 324 y2
27 (/3 13
J. J. Abs[(pSin [¢] Cos [6]) (pSin [¢]Sin[6]) (pCos[s])]p®>Sin[¢]dpdsde // N
0 0 10

179382.



